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Echo

Objective: The student will write a program in order to understand the system that we will be using to edit, save, and submit programs.

Input:  The input is a single line of text.

Output: The output simply echoes the line of text that was input.

  Input
  Output


Christmas Trees

Objectives:  The student will write a program with the following elements:

1. Simple I/O

2. String printing

3. Counted For loop

Input:  The first line consists of one integer that gives the number of trees to be printed.  Each line after the first consists of 2 white space delimited integers, m > n > 0. 

Output:  A Christmas tree of size (m, n) will be made of asterisks (*) and colons (:).  The top of the tree consists of m rows of asterisks (*).  The first row has one asterisk. Each row after that has 2 more asterisks than the previous row, so that the last row of asterisks has exactly 2m–1 asterisks.  The trunk of the tree is a rectangle consisting of n rows of 2n–1 colons (:).  The tree is to be followed by a blank line.

Input
Output
 

Names

Objectives:  The student will write a program with the following elements:

1. String input

2. Manipulation of strings with built-in functions strip(), split(), and sort().

3. Making a list

4. While loop with a boolean variable.

Input:  Each line of input consists of a last name, a first name, and a nickname.  The list of names is followed by a blank line.

Output: Output one name per line in the format <nickname> <lastname>.  There should be exactly one space between the nickname and last name.  The names are to be printed in alphabetical order by <lastname> and then <nickname> as shown in the example.

Input:
Output:

Division

Objectives:  The student will write a program with the following elements:

1. Basic string input to be converted to integers 

2. Formatted output of integers and floating point variables. 

3. While loop with boolean variable.

4. Increment an integer variable.

Input:  Input will consist of a number of cases, one case per line, followed by a line which terminates the input.  Each case consists of two white space delimited integers, the second of which is non-zero.  The last line will consist of two zeros. 


Output:   Output one case per line followed by a blank line.  For the case with integers m and n, output the case number, the integers m and n, the integer quotient m//n, the positive remainder m%n, the integers m and n, and the floating point remainder float(m)/n.  Use the format shown in the example.


Case 1. 27/6 = 4R3 or 27/6 = 4.500000





Case 2. 27/3 = 9R0 or 27/3 = 9.000000





Case 3. 123456789/111111111 = 1R12345678 or 123456789/111111111 = 1.111111





Case 4. -27/6 = -5R3 or -27/6 = -4.500000





27  6


27    3


123456789  111111111


–27  6


0 0





Student Imogene Ima


Andropov Picard  Pickup


Smith Samantha  Sam


Smith William Bill





(The previous line is blank)





Pickup Andropov


Bill Smith


Sam Smith 


Ima Student
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Hello World!


















































Hello World!








